Problem Offensive Strategy

Foo Football Club is a very offensive soccer team. Its coach is planing a new attack strategy.

In order not to change its image of offensive team, the coach wants to be sure that the new attack strategy is going to
be strongly offensive. He is a very grumpy coach so he does not allow the players to make a pass that is not in the
strategy sheet. In fact he is so mad that he does not allow the player who holds the ball to move.

A attack strategy is strongly offensive if each football pass position inside the field goes to another football pass
position inside the field which is in the same distance or closer to the enemy line of goal, and also it should be
possible to reach the enemy goal from every pass position described in the strategy sheet.

Input

The first line of input consist of a number T (T<=20) representing the number of test cases, then T test cases follow
describing a strategy.

Each test case begins with two integers W and H (1<W,H<=100 , also W and H are even integers)

representing the width and high of the soccer field. The goal lines is the line x = w and the goal is gotten form a
pass point (x,y) if it is possible reach the point (w,h/2) from (x,y).

These are followed by an integer number M (1<=M<1000000) the number of available passes in the strategy. The next
M lines consist of four integer numbers x0, y0, x1, y1 (O<= x0,x1 <= W and 0<=y0,y1<=H). representing the start
position (x0,y0), and the end position (x1,y1) of an available pass in.

Output

For each test case the output should consist of a single line containing “Yes” (without quotes) if the strategy is
strongly offensive or “No” (without quotes) otherwise.

Example

Input:

221

0121



224

0121
0011
0211

1121

Output:

Yes

Yes
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